51.

52.

53.

o4.

Choose the right answer from the

following:
The basic requirements of transmitting
antennas are:
1) High efficiency 2) Low side lobes
3) Large signal to noise ratio
4) Lone of the mentioned
SroBmed BTFbo T (FFEDE eldores:
1) ©8% FHo 2) 8555 35 &5
3) %a: N%@g oncﬂ (c?’c)o
4) 6“3_:6& 2,088
is a device that converts
electrons to photons or vice-versa.
1) Antenna 2) Electron gun
3) Photon amplifier
4) Microwave tube

b

%8580 S &a8 u‘_éséorr-
1) dﬁ:‘o@:ﬁa 2) 'S'tv KS

1) BEES éom R, ¢

The basic equatlon of radlanon that is
applied to any antenna drxespective of
the type of the antennais:

ofwoé’s'g' 6§o€"§'3 $onofe Sor T
SroBamg £803 CEEIRS o) FFEWE
coﬁbéézao: e

1)il= Qv

2)iQ=Lv

3)i/L=Qv™ _

4) Neae of the mentioned |

In binary tree sort, we first construct the
BST and then we perform _______
traversal to get the sorted order.

1) inorder 2) postorder

3) preorder 4) level order

55.

aOb-

57.

-~ o ol
-, o
LZ::‘:'J’ 7-4&7.:"41 b7cs ‘5 b iy
. et 7 pd
1) wfats 2) Pt
3) (2385 4) Trgk (2%«

The number of patterns radiation pattern
required to specifythecharacteristic are:

1) Three 29 Four

3) Two 4) Five

Y e R Sadkesk
Slri

1) &=l 2) et

8) OO 4) =is

The beam width of the antenna pattern
measured at half power points is called:
1) Half power beam width

2) Full null beam width

3) Beam width

4) None of the mentioned

i B50 Fomoy £E TULL drolmm Sk

Tao%), owo ey SRt

- 1) B0 %8 Jomo S¥ex

2) 78 &= % Bozo »3 o0
3) Ho=o Zée::_}

4) 2856 26 8%

An antenna has a field pattern of E (7) =
cos2 ?, ? varies between 0 and 900. Half
power beam width of the antenna is:

1) 330

2) 660

3) 12000

4) None of the mentioned



58.

59.

60.

66.

SroSTyH E (?) = cos2 Sy HE S
aodol, 0 K0S 900 Gy Srdodr
@otood. ol oo Sifo 48 Hoeso SIAUV
1) 330 2) 660

3) 12000 1) IR0 D6 S

An -antenna has a field pattern
E (?) = cos ?. cos 22. The first null beam
width of the antenna is:

siroBnd 58 55 E (?) = cos aotnod,
€08 27. cirolian Sw¥) I8 Erds Howo
Stey:

1) 450 2) 900

3) 1800 4) 1200

The solid area through which all the
power radiated by the antenna is:

1) Beam area 2) Effective area

3) Aperture area, 4) Beam efficiency
EroBTY) TP (H:500% ©R) ¥B Hod (Fode:
1) 8% [Froso
3) A5G (oo 4) B> FHBso

Where is field winding mounted«dn aDC
machine?

1) Stator

2) Rotor

3) Absent

4) Anywhere on stator orrotor

DC sholgod® &F Scliofngs edgmibdon?
1) fgeas

2) 8%:6

3) SEBSKe

4) 3B oo 8066 dgae

What are the materials used for brushes
in dc machines? |
1) Iron

3) Aluminum

2) Carbon
4) Steel

& cholgred® (@Re o SGErAeD Soegpes
A? '

1) o080

3) wermnAdho

2) S°68)5
4) éé&

2) (HgrSSo8S Frodo |

62.

63.

64.

65.

66.

‘carried out by

Consider the original array 67 8 62 4 26.
How many comparisons are needed to
construct the BST on the original array?
wden (BB HONBoBl 67 8 62 4 2Bnwies
BbS® BST & agyoifurnl 2 Ffes wiitte?
15 2) 4 N7 4)%0

The angle (electrical) made by brushes
with axes of adjoining filed poles is

S8R rpes THS GHAPONTEOE [hes TRE
a0 (DeagS)

1) 450 2) 1800 *3)900  4) 300

In a DC niachine, rectification process is
carried.outin order to get unidirectional
output(D3). This rectification process is

1) Half wave rectifier

'2) Full wave rectifier

3) Mechanical rectification
4) Centre tapped rectifier
2.8 DC chogos’, EBTHE 0HSHE (D3)

EPOKTERB 3083 (KBS atibdbod. & $6aT

) 38 QErosathdod

1) 5 38 3§06 2) g IS TEPAH6

3) airol®E XBBRE 4) otd ergh BEDDHE
Which of the following part is used in
construction of DC machine but not in
AC machine? '

1) Armature Winding

2) Field winding

3) Commutator

4) Shaft ‘

& (808 grrod® D8 DC dhogo doymost
ad@rhosntdod 0 AC choFos® =i?
1) @3&“55 So8of  2) §pe§ So0&0h

3) EoogBesb 4) 5

In a DC machine fractional pitch winding
is used to

1) To improve cooling

2) To reduce sparking

3) To reduce copper losses

4) To increase generated EMF




67.

68.

69.

DC cSogos® 8% &5 Zoboh %

adSrhotathdod

1) 585585 BHHHEST8

2) FBoh égoémﬁ)é

3) oA 26%@263 é@oiﬁmi)é

4) 688 Scdals EMF D o8

In normal dc machines operating at full-

load conditions, the most powerful

electromagnet is

1) Field winding  2) Interpole Winding

3) Interpole and compensating wihding
together

4) Armature winding

$re -8 56%&:0& STD e &

chol@rod’, ©¥io8 $BS5osRis la(afov TS pIch

1) §pe§ So&oh

2) m0868°S Joloh

3) 20eBHS $BEH SVID SeRBS

4) @3&65 So&oh

If a DC motor is connected to AC sapply
what will happen then?

1) Not run 2) Burn,

1»3) Run at normal speed. -,

4) Run at extremely low sﬁeed

Srerdde AC $85o°8 @263260@?\)0{326&9,0333
o 2 abrhod?

1) eoen 500 25

3) e Sisos® SEODod

4) orer éé)&a’a Ios Stonod

The armature of DC motor is laminated
to

1) To réduce mass :
2) Torreduce hysteresis loss

3) To reduce eddy current loss
4) To reduce inductance

DC 3&36 &%) @3&55 '
Schadod

1) (&850°8 é@oé;@é

2) &ROYS S SRows

3) O 83085 S EHosEs

4) ao?ﬁgﬁ‘) é@oiﬁwﬁ)&

% IS

70.

71.

2.

Why are the DC motors preferred for

traction applications?

1) Torque and speed are inversely
proportional to armature,current

2) Torque is proportiofial to armature
current

3) Torque is proporfional to square root
of armature current

4) The speeduis inversely proportional to
the torgue “and the torque is
proportional to square of armature
current

ErESSEtTes DC Srerth Qo el

DR STON? _

1) &5 58050 Ko eBy3E 880k DEErdFEos’
Qotron

2) &Pg& esééég $B0tn S ErHarsos® dotnod

3) éa°53_ @'5&:55 EBoes BnE) 26((5)&0?@&)%
08t ErHFE0s® dotnod

4) %0 & DS ErHFS08 dotnod HB
&) €05 B0l g, B’ 08 Srdarsed
@otnod

Which of the following load application

normally needs starting torque more

than the rated torque?

1) Blowers 2) Conveyors

3).Air compressors

4) Centrifugal pumps

8od &St D0 Fbnor S5 FhsS &0

$o8 (FP6oy &8 ©SBBe?

1) ?32&350 2) éﬁs&aéﬁg

3) dawd éo@)ﬁ@ 4) 20 @IS HoHew

Which of the following motors can be

used to drive the rotary compressor?

1) DC shunt motor

2) DC series motor

3) Universal motor

4) Synchronous motor

G0 Bo(2%6% JKITR8 8Bob >8S 0

Irtrdy GDRrA0NHE?

1) DC o5 3»er6  2) DC 28T Ierb

3) crdSEYS Srerb  4) 088D Jeerd
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73. Which DC motor is used with flywheel

74.

75.

76.

for intermittent light and heavy loads?
1) Series motor  2) Shunt motor

3) Cumulatively compounded motor

4) Differentially compounded motor
SEFEE wod bk 8 &% o DS
5 DC Srerded adIeATE? -

1) 285 Sérdd 2) H085 Jeab

3) %09 DFEH IJerd

4) DHore DB e

Separately excited DC generators are still
used in '

1) Thermal power plants

2) Ward Leonard speed control system
3) Hydro power plant

4) In all fields

o&m ad28 DC esdod =88

& aBErhoSathETHow

1) (56&5 5856 oty

2) 5 DF~TH 58 Sols*S B

3) (& D58 o5 .

4) Q) Borrerd

Maximum torque in a DC machine is
limited by
1) Commutation ~ 2) Heating
3) Losses other than heating
4) Stability

DC chogos® K68 e8]
$0do Ihadod

1) &e8y& 2)eTHS
3) & sedore asd :sege»
4) ?869‘550

Which of the following motor can
replace DCsexies motor?

1) DC shyft-motor :

2) Cumitative compound motor

3) Wouridsrotor induction motor

4) Synchronous motor

8B &S Seirte DC 265 Iperded> &8
Shiiets? :

1) DC %085 3rerE

2) %o é&éﬁéo Sroeredd

3) rraho-8%8 (28es Iroértd

_4) 208585 Ieb

el

77.

78.

79.

80.

Which motor has almost replaced DC

shunt motor from its applications?

1) Wound-rotor induction motor

2) Differential compound motor

3) Air motor

4) Squirrel caged induction metor

&% R0 Seerddy TRAEREETY w0k

T 450 THd Irerd b7

1) recho-8%¢6 (286 (Broepd

2) oo Sydbo IrErtd

3) dowb Jeerd

4) 2x8S é% 20EED e

DC shunt.motor is still used instead of

synchrgifious'motor in

1) High speed applications

2) Low speed applications

3) Medium and high-speed applications

4)‘Everywhere ,

i &8 208550 IRFED athwr® DC

%ot Brert 88 edSrholaidol

1) 7 $E 0B

2) $E95 SKo Ko XSBTeen

3) Sotigg SoBat> F-YB eHRGT e

4) Haser

Which type motors are preferred for

lathes?

1) DC shunt motors

2) Squirrel Cage induction motor

3) Synchronous motor

4) DC Shunt Motors or Squirrel cage
‘induction motor

85y o @ Bo Irtrdy

BAdETE?

8

1) DC %08 Irers

2) 26 38 wolES Frerd

© 3) 20(8%5% Seb

4) DC- %085 37¢r0) S ?%35 B8 20880 Sreob
When an electric train is moving down
a hill, the DC motor will operate as

1) DC series motor
2) DC series generator
3) DC shunt motor

4) DC shunt generator
| —>



83.

84.

1) Sre80h

- B e - v x
@éﬁ Dew Tod Rl AT SR TSR DC Jedeto
o Sndked
— e -t )
1) DC 285 3 -eyi;; 2) DC H8% ansddesl
o~ . P T, -
.;\ l)(‘ :\“\_‘.-i el \) ‘) l)( u‘,&)e..-‘ '.‘.',2.\)('«%‘}._‘{_)

Nowadays, DC motor is widely used only

in
1) Pumping sets  2) Air compressors
3) Electric traction 4) Machine shops

% Fd, DC \‘S..\.: AR T
S IR

2) Q-QA)S éo@é
1) ¢Ho§ Hoseeren

2. W thh motor is preferred in highly

explosive atmosphere?

1) Air motor 2) Shunt motor

3) Series motor

4) Battery operated motor

o508 Detd TFEEE008° O IPPES (FTEE

‘aé:af.:é.o&"

1) dond &6

3) 288 Srerd
) &b8 BITD Ieerthd

For Wthh of the following operations a

DC motor is preferred over an AC motor?

1) Low speed operation '

2) High speed operatlon

3) Variable speed operatlon

4) Fixed speed operation

808 =8S° 58 AC Srird Eo8DC 3rirds

s adethdo? \

1) $%p5 3o eXTHR

2) > B eSBES

3) 38chens ‘fo‘ S3505

4) Né Sto @&3

In which Jitede machine is operating,

given that.conductor current is in the

same direction of conductor emf?

1) Motoring 2) Generating

3) Car't be determined using directions

4) In both modes for different cycles

Sotig6 K0ols socsfs 255 @Ew%) ©8 bée

thu&odaé O 2rE DHT 52ERAL?

2) 688

3) edEred Gb@rRoD VonoUBky

4) 33"53 Sere &8%o Botfo 665366

2) $ot5 Ireob

|

K5,

86.

87.

Nature of the flux density wave in the
alr gap is__ {for armatyrs
current equal to 0)
1) Flat topped with quarter wiye
symimelry
2) Point topped with quarter waye
symmelry
3) Flat topped with half Wave symmetry
4) Point topped witfihalf wave symmetry
w0 56y $Geamd 33 S dy
(ﬁié 55 ﬁv..a 0 8 SSrilo)
1) g6 35 a&’w&auéu 28 sfiFsot’
2) nggo FEBrSSE Fanod e;:;;'.,%::-f:ue
aod
3) Ko BS DHEPHEE® ”@.m S0t aok
4) %0 BS BBEeHSE alfowoeb o :,:j“cf';‘:
@ob
Which of the following is false?
1Y Binary tree sort and quick sort have
same running time
2) Binary tree sort used BST as work area
3) As the number of elements to sort gets
larger, binary tree sort gets more and
more efficient
4) Both quick sort and binary tree are in
place sorting algorithms
8od T8 D8 @eacﬂo‘?
1) 836 & &§ 5Bt A Bdow
62&05 do"wcwo A0oE0O8
2) 856 & 5 BST:) @ooéono AR
28

&5§c.§

éoéwo&
4) 8o [EDHof8e DO BIY iy Bode
Lééamééées @6{?&‘50@65 ATHAW
Emf produced by DC machine, for zero
armature current (E1) and non-zero

“armature current (E2) can be related as

DC cholo mvoe el Sabodd Emf 1oa
03365 ¥8o8 (E1) %0 Hamy w0 053»‘55
¥80d5 (E2) 850
DEL=F2
DEI <E2
4) Can't be determined

2)El > E2
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88. Average coil emf for 20 coil turns (E1)

89.

90.

91.

and 40 coil turns (E2), will have ratio E1/
E2= (assuming all other parameters
same for both machines).

20 ond HendHew (E1) 8% 40 wond
Hendes (E2) %0 $htn wond emf, 958
El /E2 = (Both cholgre® @
888 FodHod eSor uming SHr) 08
A0&00A.

D1z 22/ H1/4 441

What is the average coil emf generated
in a 4-pole DC machine having flux/pole

equal to 0.1 wb rotating at 1500 rpm?
(No. of coil sides = 100)

1500 rpm 5% 860 0.1 wh % $5rR303 £§)
| 26 6OAS 4-26 DC Sholgos® ad)d Babals
S5t ond emf Qod? (Fond IHo Sogy =

100)
1)19KV 2) 19KV 3)190V 4)19V

Emf and torque produced in asDC

machine are proportional to

and respectively.

1) Armature speed and armatuire emf

2) Armature emf and armature speed

3) Armature current and apmatur€ emf
4) Armature speed andrarmature current

sHolFos® ad)d Schedemf Hockn &5
Stdm o0 %
SHSEeHPSos® aotRd.

1) 6536 H)E $8dhy &35 IHIH

2) €556 HAH Hoba &GSE &

3) @3@55 EBoS 0835w @3&:‘58 P
4)_@3&55 BKo K8ae eT3E oo
What-is the value of Np in an average

coil emf equation, for 10 armature
conductors with 2 parallel paths?

2 $mo8S Sros® 10 Gy Sougs HHits
Towd AP B8Beos A e od?
N2 23 325 44

92,

93.

9.

95.

1) 188V

What is the torque equation in terms of
B, Ic, 1, Zr (r= mean air gap radius)?

B, Ic, I, Zr (r = %ife o0 gD mﬁ‘«écfr Sorr
¢&rB) Bp88ro DLA?

1) Bav*lc**Zr 2) Bav*IcZl/Zx

3) Bav*Ic*Zr/ 4) Can't'hg expressed
What is the value of polé pitch (in 5 unit)
for mean air gap rddius= 0.5mm and
P=9?2

dien O D Fgrge = 0.5
P=9 e 2§ 53 (S s05&°) Do 08?
1) 0.785* 14 2) 0.785* 10*

3) 0.785F 10% 4) 0.785* 10~

A 9-pole DCwound machine is lap wound
with 900 conductors. The pole shore is

AL, Lo L
BéL BSw

. 20 cnitlong and average flux density over

one-pole pitch is 0.9 T, the armature
diameter being 30 cm. What is the value

of flux/pole?
1) 0.188 Wb . 2)18.88 Wb
3) 0.0188 Wb 4) 1.888 Wb

9-2%6 DC rrcho cholo 400 $08588° o5
meho. S 880 20 o.& LY Socke 8-
S 5 %08 vkt 35 FoBE 0.9 &, «0ysE
F60 30 Do.ab. F5) / FS ek ARE?

1) 0.188 Wb 2) 18.88 Wb

3) 0.0188 Wb 4) 1.888 Wb

A 4-pole Dc wound machine is lap wound
with 900 conductors. The pole shore is
20 cm long and average flux density over
one-pole pitch is 0.9 T, the armature
diameter being 30 cm. What is the value

~ of induced emf?

4-2F& 8% mabo shogo 400 Korges”
mabo. &S 8o 20 Ro.db BrED Hdk e8-
S 15 Bo8 vt 15 JolES 0.9 8, «TsE
560 30 Do.&. (H08 emf doo H?

2) 276V

3) 94V 4) 188 mV



96.

97.

98.

99.

If the no load speed of DC motor is 1300
rpm and full load speed is 1100 rpm, then
its voltage regulation is
DC 3r0:6 S»%) $°6 Srfo 1300 rpm S0k
%o &6 Sro 1100 rpm e, o) FgE
Dedoles '
1) 12.56%
3) 17.39%

2) 18.18 %
4) 18.39%

If the average coil emf of a DC motor is |

doubled and flux is halved (keeping
other parameters constant) then its shaft
speed will become

1) Twice of the original speed

2) Square of the original speed

3) Four times of the original speed

4) Half of the original speed

DC Srerdy Q¥ Siftw wowd emf Bgod
o000 8) o ol (@38 Fodehets o
Gotio) B R FY Stfo
©HHoH

1) oben Sfo Go¥) BodFE
2) eden Jiso g %@5

3) eden S50 cﬁ:oé@ Teenid BD

J31i ¥ )
IR

4) evden S50 Hdifo

A 9-pole wave wound DC moter drawing
an armature current of\20' A has
provided with 360 armature conductors.
If the flux per pole is 0.015 Wb then the
torque developed by the armature of
motor is .

9-28S 38 ko DC 65 20 A &%) @3&55
£Bot5Se A EeN360 «BsS6 gosgy s’
woBoSntod, (eeeas $5) 0.015/Whb wosg,
Irerds GBEy &93@7555 awor 995 )8 BhadS
&) '

1) 10.23'Nem
3) 17.17N-m

In a DC machine, what is the torque
induced beyond the pole shoes?

DC c$oFos’, 56 arind oD (82080
&r8) Ad?
DO

3 n*H*i/2

2) 34.37 N-m
4) 19.08 N-m

2) 2/m **i
4) Can't be calculated

100.

101.

102.

103.

For a constant emf, if field current jq
reduced then the speed of the DC motoy
will

1) Remains same 2) Increases

3) Decreases 4) Can't'say

2635 emf %0, SF 005" DC Irimg
3to
1) 08 dSorr dotoob

2) 2BHSHoH 3) é@éﬁ)o&
4) BB

For an idealDC machine, which

phenomenen will reduce the terminal

voltage?

1).Armature reaction

2),Commutation

3).Armature ohmic losses

#4) All will contribute in reducing the
terminal voltage

sg5083s DC chogo 5550, & & yAghabo

8IS 55§a§:6: SR0h?

1) 6836 80ES

2) éﬁ&g&

3) @2%55 8,308 :6%&13

4) 86&265 Ssgeg é@oiﬁéoé{’ @9% &80 3@301)

Half wave converters are used for
controlling DC motor of
1) Below 400 W 2) 400 W - 4000W
3) More than 4000W
4) Anywhere :

S¥) DC 3perdods Ackho@oseeis
509 38 B8 adIeATRE
1) 400 W (8o& 2) 400 W - 4000W
3) 4000 W %08 %%
4) BBz

‘How many thyristors does we need in
half wave converter?

Bifo I8 B5Y0S° Ho¥% 2 ok @Sse?
N1 2)2 3)3 4) Many

e O M




104. How many thyristors does we need in

105.

106.

107.

semi-converter?

2D 5Y0S° XS Y FOK ©BBL?

D1 2)2 3) 3 4) Many

When armature current becomes

discontinuous?

1) Small firing angles

2) Large firing angles

3) Infinite firing angle

4) Does not depend on firing angle

s0)35 K008 OAZPowY?

1) 9%) 380R Seren

2) G >Boh Soemen

3) K0S Boh &S0

4) 28oh e300 B8O B0k

Which of the following is the effect of

non-uniform armature current?

1) Ratio of peak to average and rms to
average armature current decreases

2) Ratio of p'eak to average and rms to
average armature current increases

3) Ratio of peak to average increases and
rms to aVefage armature cuyrent
-decreases A

4) Ratio of peak to average decreases and
rms to average armature eurrent
increases

BobT&St D¥ErSE B8 @3&:‘55 88od5 [Herdo

Q&?

1) K88 D8 DB Ay Drien 8)56 $B0é0

- rms éz@;éao&

2) 585 DB KB HBKw BKewn @BySE Kot
o0& rmsyRdHEHod

3) KO3 DI BOB e BHIBE HBA HikD
@3@65 %0085% rms Brp&ob

4) 3pBo ol Diken A8 é?‘%éﬁ:o&) L0835
Qrjé @3&55 $30¢5% rms »&HEod

How many quadrants does full-converter

work?

B850 R TEEoty HAVE08?

1) One 2) Half

3) Two 4) Can be any

108.

109.

110.

111,

112.

How many thyristors are required for
full converter?

%0 8iegb o Dy GO wiidbo?

1 Z) 2 33 4) 4
Full-converter can be used in DCmotor
for regenerative braking in

1) Constant operation

2) Variable operation

3) Inversion operation

4) Opposite operation

& (H6E8 B8oh 5o DC
rerds® Grf-EYEK adErAoES)

1) 283 SIERS  2) 38chHanS SBBES

3) D&%, IFBAS  4) SRTE ©ITKS

Dual converter operates in
8ets ExEo &* $2Tb0d

1).1 2)2 3)3 4) 4

Which converter/s can be used for DC
series motor control?

1) Semi-converters

2) Half-wave converter

3) Full-converter

4) Semi conyerters and full converter
DC %58 Srerds dokolge o D 436 /
GITPAOBIR? - ~
1) 28 E58%
8) FrO-E5YE
4) 23 5L $obako o ELE

Three phase converters are employed
for

1) Large kW motors

2)-Small kW motors

3) In all motors

4) Never used

2) $55-35 4

0 Suarch Sdo EXEEy
ad@rhodaiiaron

1) 28 kW Srért

2) 0% kW SuTA e

3) @) Seeredd

4) D eBAPNOSBL




113. The speed of a DC shunt motor can be

114.

increased by
1) Increasing the resistance in armature

circuit

2) Increasing the resistance in field circuit

3) Reducing the resistance in the field
circuit

4) Reducing the resistance in the armature
circuit

DC %ofS Irtrds I DoHs)

1) @8&65 QD8 5&5935 QBPBESESD Dosko

2) $S 6 $56° AEEES oo

3) HS %8m) §56° DE* LS SPoSto

1) &35 38 §56° B°EESH RoSto

What will happen if excitation of DC

shunt motor is changed? |

1) Torque will remain constant ,

2) Torque and power both will change

3) Torque will change but power will
remain constant

4) Torque, power and speed, all'will
change

- 8% Hott Ireb o':bﬁgr 6585 Sr83 0

115.

adihsod?

1) é.3°537 H¥orr Gotnod

2) &8 55360’503 48 Bokr, a’m&wcm

3) é3°537 SrBrEHod =20 I8 coZSonv eoé.»o&

4) @5&, ¥8 LrBain fatel e-pia Sotomeom
The speed of a DC shiunt motor can be
made more than full load speed by

1) Reducing the field current: % -

- 2) Decreasing the armature current

3) Increasing the armature cirrent

4) Incréasing the excitation current

DC 06§ 3re:b G I w8 &8 Sifo
Bo& axoe 3&55;)

1) $¢ 8ot ShoSto

2) @3&58 %805 ShoSKo

3) @8&58 %805 DoSko

4) 638 B DosEo

116.

117.

118.

119.

120,

The power flowing through a circuit jg

DP=VxI 2)P=V~+l

HP=V+l HP=V-I

Which speeds can be obtained from field

control of DC shunt moto#?

1) Lower than rated spe€ds

2) Greater than rated speeds

3) Lower and greater thas rated speeds

4) Neither lower nor greater than rated
speeds

&% KofS Ired wE) §,>e§ %0l&5°S %0l D 3{?@1

SPoHEY? ¢

1) 865 Srongod $5

2) Be5 B3 K0 Bods DENS

3) BEDDS Stfo BoB By LB JES

2),385M82% 3o BoB S S IS =D

Nosload speed of the DC shunt motor is

1322 rpm while full load speed is 1182

rpm. What will be the speed regulation?
&% %ot Ireb ) 68 ko 1322 rpm =,

%rg 6°€ 3rfo 1182 rpm. &QE BHBRS dem

@otnod?

1)12.82% 2) 11.8 %

3)16.6 % 4)14.2 %

Speed regulation of a DC shunt motor is

equal to 10%, at no load speed of 1400

rpm. What is the full load speed?

8% o8 Il G NE BTAS 10% S

B&mido, 1400 rpm S°8 Iro 5% F°0 &8 o

- Qod?
1) 1233 rpm 2) 1273 rpm
3) 1173 rpm 4) 1123 rpm

Where will speed-torque characteristics
will lie when armature reaction is
considered?

1) Below the speed-torque characteristics
when armature reaction is not
considered

2) Above the speed-torque characteristics
when armature reaction is not
considered

3) On the speed-torque characteristics
when armature reactlon is .not
considered



121. ¥

122,

123.

4) Can be anywhere with the speed-torque

characteristics  when  armature

reaction is not (()n\l(i( rwl

Y
LI
oirrer J5HE aoctron?
= &
1) 6358 H83Y; BOXBo IS hE-erE)
2] o ¥ o) &)
oo §od
2) 336 HER X B8 So SRS 3Ko0- 65"5)
] A
~ e-:\\c.%q., Za a sl
3) €50 8IS )\ fa SKo &r0)
oEoD
— .
1) eGS0 (BB BBNBoS2EG% .QG)E 9]
~8 —_
O3S IHET GoRSD)

Vorking range of the speed-torque
characteristic, with increasing speed will

1) Reduce 2) Increase

3) Remain same  4) Cannot comment
?.:;5-9;.?52_ ofno g SN B0y, B heh Oy
Stfos® 4

1) e’ﬁ.’%é:o& 2) 2oHEHod

3) o7, dotwod  4) argpRoBBism
Which of the following sorting
algorithms can be considered as
improvement to the binary tree Sort?

1) Heap sort 2) Quick sort

3) Selection sort  4) Inserfion sort

ot =5 28 FRoR wefaBouds 36 &
Fgohs biblomr SordesSi)?

1) &3 @&a&ééw 2) (50 (_ééaeaéétﬁea

3) 20 Léwa:%"&m 4) 5%3\03 Léa’wméééso
In which of the following method, effect
of armature re@etion is more?

1) Field weakening method

2) Armatureresistance control

3) Same in both methods

4) Cannot bhe determined

Bot 8&° OB, @856 (BB (Herdo J8n8?
1) ¢ wolrissed $50

2) @3(3’&5 BHRDY éoLé355

3) Both SEHEFsr o

4) K)gowoi’)éfm

124,

125.

126:

127.

128.

Which winding has large number
turns?

1) Shunt field 2) Series field

3) Both have same number of tin

4) Depends on requirement

® éu&uf{ﬁ 2 Somgl® Do HeplgT N

1) Gods & u ) 2) H6% x‘r

3) Bodr a.d QoY \@ e A aosr

4) QDKJNU":\Q t:\ag Aol

Which winding contains wire with
higher thickness?

1) Shunt field 2)Series field

3) Both have same Tiumber of turns |

4) Depends.orirequirement

2 So8ohs? IS HoBod® Z6 aotmel?
1) o8 58 2) B85 $S
3) Bar A8 ‘éom§65 SJevHen ¥
4) @éé@?\a m% Aaotnod
Which winding have higher resistance?
1) Shunt field 2) Series field

3) Both have same number of turns

4) Depends on requirement

Of dodrax

" @ Bolol %% AE%ESH SN eod?

1) Kot & 5 2) 8% 235

3) Bo&» a.é ‘ooaaéés DenHen DA aotr

4) @5“)0‘5{& ag SB0otnod

Which is more practical method used in
control of series field?

1) Diverter 2) Tappings
3) Switch relay

4) Cannot be determined

385 §¢ ahons® asSencd
eS8erds S58 20?7

1) 3585

3) 68 SwBo&

LA
JeTethy

2) &“é‘ibo& A\
" »:4) “Dgwo ‘{a\;ﬁ\\

In compound excitation, which winding/
8 is/are excited?

1) Shunt 2) Series

3) Both

4) Cannot be determined
Sytiso adedod’, O Bololl / w aonrur

dRon?
1) HKod 2) 98%
3) Botw 4) agwocﬁé:\n



129. In which type of excitation air gap flux

130.

F 1) BrHEhod

131.

132.

increases with armature current?

1) Differential compound

2) Cumulative compound

3) Differential and Cumulative

4) Cannot be determined

S35 880858 O 85I J[yBoll Aowb S

25y 1dorhson?

1) eodBod }633&&60

2) $odS 2633&'5260

3) ©38ed HBM Jode

4) DowosSBso

In differential compound excited

machine, what is the variation in air gap

flux per pole with respect to armature

current?

1) Increases 2) Decreases

3) Remains constant

4) Always varies

ool dEyFto agad oodt, &0)i38

EB05% Hozofod ((hards md S S5y &Y

30850 DWB? N\

2) é?%éao&

3) ?géorw &0oenod ST

4) ag@&‘m Soedoédir SotHod

Which winding in compound.€xcitation

is responsible for change.in air gap flux

per pole? N

1) Series 2)'Parallel

3) Interconnected™

4) No coil is responsible

o8 0 mB\pareod® a’m&géa @3:&!5260

é3eos’ Bolof =e0? |

1) 265

3) aoé.:5§3§E

4) o a)vqﬁege‘é S0l

How short shunt and long shunt

compound winding is selected?

1) Mechanical considerations

2) Switch reversal

3) Performance |

4) Mechanical considerations and switch
reversal ~

2) sl

133.

134.

135.

136.

Dod OF) HotS Hodw eofi Gof wolruf
Rodoll doheuliot?

1) 0|8 HB8eben2) BSGYS Lrbols

3) $086%

4) Srol@¥ H08eden HOED b B5GS

FORTRAN is
1) File TranslationZ)Format Translation
3) Formula Tranglatien'4) Floppy Translation

For a long-shunt compound motoring,
which_of(thie following equation is

‘correct?

erafi—%08S ool Srtdoh o, 8od w8
6, 25%6?
) Vt= Ea+ la(Ra+ Rse)

2) Vt= Ea-la(Ra+ Rse)

3) Vt= Ea+ [a(Ra- Rse)
4) Vt= -Ea+ la(Ra+ Rse)

Vit= Ea- la(Ra+ Rse) is the equation for

1) Short shunt compound motoring mode
2) Short shunt compound generating
mode

+ 3) long shunt compound motoring mode

4) Cannot be determined
Vt = Ea~-la (Ra + Rse) »38
& 880

1) Qpé K08 ool IreBoh Ir&
2) i‘vg Hot5 2633&6260 o8B Ik

3) eroh ot 200k FrerBoR IeE
4) f{)goaao{ﬁé?ﬁw

How shunt field is controlled?
1) Diverter resistor in parallel

2) Tapped field Wihding

3) Series regulating resistance

4) Other methods



137.

138.

139.

%085 5§ Do AedhoBosnthdon?
1) SsosSore G886 BRE
S 305 HS Zoloh

3) 285 EPSE BB

4) 288 aéé)e»

The generator is called flat compounded

if

1) The series field ampere turns are such
as to produce the same voltage at rated
load as at no load .

2) The series field turns are such as that
the no load voltage is smaller than the
rated load voltage

3) The rated voltage is less than the no
load voltage

4) Cannot be determined

@08 ws8wb P& ool

Q) Dok
1) 285 fpeﬁ 802656 HevHen D SE SHowe

38E& 6355 5 28 5535:\’13 a$)d BFeow
2) 8% &6 a’wwo@w @oﬁ SE 55655 3¢5
Sohass & FGE Lol DB svefo
3) 3¢5 55§£ S 55§§ Lol éé}z’;ém SotDo8
4) Dgoaaoééa’m
The efficiency of the DC motor at
maximum power will be
1) 100% 2) Around 90%
3) Anywhere between 75% and 90%
4) Less than 50%
k! #88° DC 3eerd PG50
1) 100% % 2) ks 90%
3) 75% %8050 90%, 3o BB
4) 50% Sav) S
The hysteresislossin a DC machme least
depends on
1) Frequency of magnetic reversals
2) Maximum value of flux density
3) Volume and grade of iron
4) Rate of flow of ventilating air
DC ooofos® &°3H0RS o g£hso
P SrBHs dotnod
1) SrR)BE 858)5) doE) $EW)
2) $8) o8 oy KOG Devd
3) o To¥) Srevy DB BE
4) 308B80R 9 (Harsro e

140,

141.

142.

143.

Which of the following is not the effect
of iron loss?

1) Loss of efficiency

2) Excessive heating of core

3) Increase in terminal voltage

4) Rise in temperature of ventilating air
8od B wbodn $ho (Hepie 0B ?

1) oo SN0

2) §%6 @w¥) wh8 &5

3) BERS FFES® Dborve

4) rv® IoH3BeR G A KE 1EIDHL
Which of the.following loss is likely to
have highest proportion at rated load of
the DC generator?

- 1) Hysteresis loss

2) Field'eopper loss

3) Armature copper loss

4)Eddy current loss

25866 Gng) 38 6°6 S8 8o TES° Do %S
N8N SO @otnoh? )

1) &0% D S 2) 56 oA S0

3) @3&65 oo :6010 4) & (BRS :cho
Which of the followmg loss in a DC
generator_varies significantly with the
load current?

-1) Field copper loss

2) Windage loss

3) Armature copper loss

4) Cannot be determined

8% RBLESS Bod &S Ha &6 8ot
Hesdodhorr Srdhdod?

1) ope5 ooh S50 2) ® S0

3) @3{3}65 c°ﬁ zsoqo 4) Séowoeséaﬁn

Which of the followmg methods islikely

to result in reduction of hysteresis loss

in a DC generator?

1) Providing laminations in armature core

~2) Providing laminations in stator
3) Using non-magnetic material for frame

4) Using material of low hysteresis co-
efficient for armature core material
DC e85 &rRons SR $hod Bod e

20?
1) @6@55 E858° oINS woboSto
2) ?3@865 ePDRHJD wohoido
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3) mSo §%So oI008 S& Saraozdy
addrAoSso

1) 856 56 EBaHS B0 S8 PENG
cﬁwé) oamvcvf\zl &3R0S0

. Which of the following loss/losses in a

DC generator is dissipated in the form
of heat?

1) Mechanical loss 2) Core loss

3) Copper loss

4) Mechanical, Copper and Core :
DC 2:5866¢° 808 F86° D8 850 / Sipes 38
Srdos® Sesendean?
1) o[B8 g0

3) oo 265;10

4) 58S, =006 Hdcw &6

Which of the following losses are
significantly reduced by laminating the
core of a DC generator?

1) Hysteresis losses

2) Eddy current losses

3) Copper losses

4) Windage losses

DC 5806 &%) 856 235 Sabito ao°
8o 8S° 5B Iiea?bdﬁ:om Sih&oh?

1) &r000 Saer  2) IO (SKp8 Saped

8) oA Sapeo 4)-DREE SFED

2) &°8 ESQO

. The total losses in a- well-designed DC

generator of 10 kW will be nealjly equal
to

10 86808y e GrroBONS && azséeaqf 3o |

147.

148.

The condition for maximum efficiency
for a DC generator is
DC esded %o H0Y Py, T’ 50?3{’

1) Eddy current losses = Stray losses

2) Hysteresis losses = €ddyicurrent losseg
3) Copper losses = 0

4) Variable losses ='eonstant losses

DC generators are normally designed for
maximum efficiencCy at or near

1) Full-load 2) Minimum load

3) Rated voltage 4) At all loads

DC 25868 Feedeomr 58 S

- Bépsgs® HoR 3‘5’»@0 g0 5?9"0&05@@0»

149.

150.

1) 8- w5 2) 835 &6

3) &S 55%%5 4) @zgl &g 38
Im'aDC generator, the iron losses mainly
take place in
DC 55808, sidodo Sapes (B
& etoifraron

1) Yoke 2) Commutator

3) Armature conductors

4) Armature rotor

If DC generators are located near load

centres, which losses can be minimised?

2) Eddy current losses
4) Corona losses

1) Iron losses
3) Line losses

8% aded 68 Jome B aol, D o
* BRossy?
Sapes 8" %5960 1) =9sm Sapen 7
1) 100 W 2)500 W 2) o @8 Sheo 3) BS e
3) 1000 W 4)1500 W 4) 8% $ipe
51)1 52) i 53) 1 91 )1 502 582 591 60)1
61) 2 ..62) 4;“_ 63) g 693 3 662 601 682 693 704
(AVPIR O 73)3?_“,”74)2 75)1;\'*:1;;79)&3 14 782 794 80)2
83 871 833 8H2. 851 864 8N1 871 8Y1 904
T 9D3 91 932 993 951 96)2. IN3 992 991 100)2
101)2 1021 103)1j1{,1g4’)f_~‘2_ 105)2;__106),2; 107)3 108)4 109)3 110)4
111)_4,'1_12)1' 113)2 1193 1151 1161 1172 118)2 1192 120)2
121 12291 123)1 1291 125)27‘1,25)1‘ 1202 128)3 129)2 130)2
13D1 1394 133)3 1391 1352 1363 13N1 138)4 1394 140)3
14D3 1423 143)4 14 . 1404 1483 1494 15003




